NAME:

The Necklace by Guy de Maupassant

Directions: Choose the Correct answer to each statement

1. Which of this best describes the character of Madame Loisel?
a. She did not want to be married to a rich man.

b. She was born to a wealthy (rich) family.

c. She longed to be envied and desired.

2. What was in the envelope Mr. Loisel gave his wife?
a.an invitation to a party  b. tickets to a play c.a letter from Mrs. Forestier

3. Why did Mrs. Loisel not want to go?
a. She did not feel well. b. She did not like the Minister of Education. c. She did not have a gown

4. How much money did Mr. Loisel give his wife to buy a dress for the party?
a. 40 thousand francs b. 36 thousand francs c. 400 francs

5. What happened to the necklace Mrs. Loisel borrowed from Mrs, Forestier?
a. Mrs. Loisel gave it to the minister’s wife. b. Mrs. Loisel lost it. c. Mr. Loisel sold it.

6. What did the couple decide to do about the necklace?

a. They decided to buy a new one.

b. They decided to have it fixed.

c. They decided to tell Mrs. Forestier they would like to buy it from her.

7. How did the couple get the money to pay for the replacement necklace?
a. They used Mr. Loisel’s inheritance. b. They borrowed it. c.bothaandb

8. What did Mrs. Loisel find out about the necklace that she borrowed?
a. [t was a fake. b. The clasp was broken. ¢ [t was stolen.

9. Over what time period does this story take place?
a. ten months b. two months c. ten years

10. What is the setting of this story?
a. Paris, France b. Rome, Italy c. Tegucigalpa, Honduras
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Paste the picture in the corresponding sequence of the plot structure.

Exposition
Resolution
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